Juoodbootduootdd
KASKAOOODOOOooooooooooad

oooon
Doooooooon

oogon

D4152 OO0 00

o180 20 80



g

O KASKAOOOOOOOoOooOooobobobooooooooooooo
obobooooooobgobobooboo gsoboobooboboobboonDon
gogobbobbuoooooobobboooooobooboooooobobon
ERERE

gbogboogbogbogboobbogboobbobboboboobn
ggobbbboboouooooobbbbbouoooooobbobboboodado
gogbobbbuodooogobbobboooooobboboooooon
gboobobdgoi1sbologbbooooboboboooobobobonoon
gogobobbbbbodgooooooobboboobobboboobobbooogoo
ggobbbbodooooobbbbbuoooobbbboooooobbo
gobobobooogoon



010 0000 3
11 00000000 . . 00, 3
12 00000000 .« . oot 4
13 000000 oo 6

131 00000000000000 .« . ..o, 6
132 KASKADOD . ..o 8
14 KASKAODDOOOODOOOODO .. .o o v 9

020 00000000 11
201 OO0 o oo 11
22 00000000000 . . . o oo 11
23 0000 . o 14

231 00000000000 ..« oo 14
232 00000000 .. . o 00, 15

030 00000000000000 19
31 000000000000000 .+ .+« oo oo 19
32 v0000000 . . o 0o 21
33 00000000000000 .« . . o oo oo 23

331 000000000000000000000000000 23
332 000000000 .. .0, 24
333 000000 . .t 27

040 OO 30
41 0000000000 . 0o 30
42 00000000000000000 .« .« oo 31

421 00000000 « . o 31
422 0000000000 . . ..o 33
050 OO 35



10 oogg

1.1 O000o0good

gobbooogbbobuogoobbsbbuogooooooobood
ggbbobuoooobbbuoooobbboodad

O0n—p+e OO (1.1)

gogobobbobbbuodgooobobbbodgooooobbobboougg
ggobbbboduoooobbbbtboooooobbobbouooooobbo
0000000000000 1/2000000000000O0O0OOOODODODO
ggobbbboboouooogobobobbbouooooooobbobboougo
goggbboobobbbouodoogooboooooobboboobbbooooood
gggobbbbbouoooobbbbboooooobbobooooood
ggbbobuoooobbboooobbbuoogooon
gobbog-bbobooogbbbuoogboboooobbboooobbboo
gdgoogoooobobboobbbtbdddooooobobboooooood
ggbbbuoooobbbuooaosbbbuoooobbbuoooobbb

00000n—p+e +v000 (1.2)

gboobobobgsebobobuobobobobooboboboboba
gbogboobuogbugbouogbuodgbogboobooboobobbd
gboobbobbobobooboboboobboboboobobobbonbbo
00000000000000000000000000000 (v+p — et +n)
gogobbobobodooooobbbooooooboboobobooooooboboo
gogobbbbboouooooobbbbbouooooobobobbbugo
gogoobbobbodooooooboobbooooooobooboboooooog
gobooo

00000 (¢0000000 (vyOODODOODOOOODOODODODDODODOOOO
00000000000 (e000000OD0OO0O0O)D0DODOOODOOODOOOOO
100db00ep, 0000000000000 ve,v,v, 0300000000
gggobbbbbouoooobbobbooooooobbobobooooood
ggbbobooggbboboooobber,dggobbooogoobbood



oo |oo|ooo|ooo oo [Mev/?]| OOOO [ | oooo H

01l e et 1/2 0.510998902 g 1.0011596524 x eh/2m.c
O 1/2 | <3x10° 00 < 1.5 x 10 Och/2m.c

o2 pu wut 1/2 105.658357 | 2.19703 x 107% | 1.001165922 x eh/2m,c
v, ,° 1/2 < 0.19 oo < 3.9 x 107%h /2m.c

3| 7 Tt 1/2 1776.99 2.906 x 10713 | > —0.052 and < 0.058
0 .0 1/2 < 18.2 oo < 3.9 x 107 "eh/2m.c

Ul 00004aooo

gobboooobboooobboodobbbuooobbbooobbded
oo

1.2 00000000

do0ooooooooooooooooooobooooooooboooooo
oo wiooooooooooooobbobobobobboboobobooooo
0odoooooooboooooooooooooobooooooooooooon
oo oboboooooooooood

ve,v,,, DO 0000000000 00000000000000000 v1,,,13
Jdoodoooooboogooooooobbboooooooad

oooooooooz200 (v, 000000O000000000 1,100
U00ve,r,000 v,1n0

DDD(V6>:< 0‘056 sin6><y1> (1.3)
v, —sinf cosf Vo
DDDDDDDDDDDDV€DDDDDDDDt:ODDDDD1/6(0):1,1/“(0):0
goood

0oodooooobooooobooooonooooon n,wdddooooogao

gbogbuoobuoobooboobob gOpgboobooxobgoo200
U0 mnmypdobooogooboogoooboood

000 (t) = 13(0) - ! Pr=EO/A (1.4)

gobobobobuoodb bbb pdddbbbm; 000000
000000 E(CoO00:=10002)00000000O0O0ODODO0O0OOOOO
v 0y, 0000 (pp—Et) 0000000000000 O0O0COOOODCOOO
gobboboogobobod



0000000 +t000 v, 00000 ve(t)w(t)e(t) 000 (1.3)00D0¢ =0
00 11(0) =cosb,»(0) =sind 000000

000000vw,(t) = —uvi(t)sind + va(t) cosd
000000 = —u(0)sing- P B/ 43 (0) cos § - o' Pr—E2t)/R
OD00000 = cosfsing - (e!Pr=E2b/h _ pilpe—Ei)/h) (1.5)
D0000mOLE) = wn(t)cosd + va(t)sind (1.6)

O000E=pc0000pe>m@0000000

2.4
000 E; =\/p?c +m2c* =~ pc+ W;ZEC (1.7)

0000000t0000000000000000000000 Py, — v,) =
Gl

E, — Byt
000 Plve —v,) = 231n2900529~<1—cos(2hl)>

2.4
2A7Z/E’ch‘t£8in220-SiHQ72§ (1.8)
000000000Am?>=m3-mi0000000000000000 L=ct
gogooobbbbbooooooooagd

_ 4rE
 Am?

000 = sin?20-sin

Lo

(1.9)

Oo000000
0(18)00000000000000000000000000 ».0 .00
00000000000

o L

0 P(ve — v,) = 1 — sin*20 - sin - (1.10)
0

D00000000Am, =m?-m?000000000006006,;0000

00000000000000000000000000000000000
D000000000000000000000000000050kmO00000
00000000000000000000000000000kmO00000
D00000000000000000000000000000000000
000 kmO0000000200 70, 0000000000000000000
0D0000000000000wO0wOOOO00O00000000000000
Am2, =m2-m20000000606,;000000000000sin?26;5 = 0.10
D000000000000000000 1.10000KASKADOOODO L = 1.8km

00Am2,00000000000L=18m000000000000000
A 2
0 PKD;—»LQ)::1——shﬁZQm-SHEAiggg—kCXlO_% (1.11)

0000000 sin?20,3000000000000



1.2

| STV, N/
by
g \ LU

AR

> + i »

KamLAND

Pive == we)

0.1 1 10 100 1000

U ll:00o00ggbbobdao
U

1.3 000600
O

1.3.1 U0douoobuooooon

gbboobobugbbodboooboobbuoob200b0buo0obbo
gbogbobogbogbbooboboobbobboboboobuoobbooobda
goggobbbbbbotbdooooooobbbbbbboooouoooood
O00000OO000OCOOoOOOOOOODOODO 100000000000 (k) O
ggbobooogboo

D00%U — ZNp+e +7, (1.12)

03°Np — 3PPu+e +1,00
000000000000000000000000000000000 600
000D000000D00000D00D 1000000600 » 00000000

oob0ob0l1gboobogoogooD20MeVOOOODOODODODODOODODO 3GW
ooooboiGwoOoooooooooobooon

3(GW) = 3 x 10°07/s) = 21 arevys) (1.13)
- YT 160219 ? '
3 % 102 1

M L _0.9362 x 10°(0
160219 MeVIS) X Saaiarerymy ~ 09362 x 107 /5)

6



00010000 1.0x10°0000000000000000x% 1000 700
goobobbobbouoooobbobbodoooooobboobbooooood
gbooboboobodobbooobooboobbooboobbooboon
goooobbooogbbbuoodobbbuoodobbre00DOoooobobDOo
0000000000000 000000O0000000D0 (ep)DOOOODODO
goon

0000w +p— et +n00 (1.14)

ggbbobuoooobbbooooobbbooobbobog 1120000
g o

O
=100
-2 o0 F a) ¥, inferactions in detector [1/(day MeV)]
g F b) ¥, flux at detector [10%(s MeV cm?)]
§ 0 9oE) 107 e
2ok
60
U_I ] T Y N A I bl | |
2 3 4 S 6 7 8 90 10
O EMY)
012 00000000000000000
O
O

0000000000000 0000000oooo (h)oooooooooo
000000 (e)OpO00000ODOO0O0DOODOOODOOOODOOODODODOOOO
gbooboobobobbooboobuobo4MeVvOOOoLDoobboDDOD
googobuogobobooobbooboboobbooobbooobbooboba
gbogbugbuogbgobobobobbobooboboobooboood
gobooobuop 00000 bO0Ob0OObDDbO0ObDbOODODbDOOnD 1.8MeV
ggbbbuoooobbbuoooobbbuoooobbbouooobobood

000 et + e — 29(0.511MeV) O (1.15)



gggbooooobbbbbododooooooobbbbbboouoood
gooobgobgiloMeVvODOOOonooooono

Esignat = E, — 0.8MeV > 1.022MeV (1.16)

gboooboooobdbobobobobobobuobooobo 1.022MeV
goboooogod

1.3.2 KASKAODO

O KASKAOODMoOooooooooooooooooobooooooo
0000000000 (KAShiwazaki-KAriwa) 000000000000 O0OO
KASKAOOOOOOOOOOoOooooooooooooooooooo (ooo
243GW)0 0000000000 18kmO00000O0O0ODOOOO0OO () O
gogbooogd

gi3ogbdboboboboboobobobobobobobboban
gboogoooorbobobobooboooboboboboboboboobo
goooooboboobooboooobooboboobDoboobooD 1.8km OO
0000000oooo (FAR)ODOO00oooooooooooy 0000000
0000000000000 00000000000DUO0ONEAR-AONEAR-BO
OO0OD0OO0ODFAROOOOODODOOODOOODOO

O
21500
45
1800
= -h'f-: g | INEAR-E Detccior
5 1Bw
= FAE Delector
=
~ 800 -
o
.E LEW ]
% 00 L el m! NEAR-A Detector —)
= 1
Hexfm—!;l_
300 0 500 1000 1500 2000
Relative Posilion (m)
O O

013 0buogobbbuogobbouoooobbboooanobon
0



OO0 NEARO FAROOOOOOOOOOODOOOOOOODOOOOoOoOoo
ggbobobooggoon

OOO0OOKASKAOOOOOOOOOOODOOoDoOoDo1bDOoDOobDOoDO
oGdbOOooobOoboooooboGd-LSObboooGdoobobooooonoo
049700barn 00000 O00OO0OOO0OOOOOODOODOOOMOODOOOOOODOO
0000000000000000 00000z, +p —et+n00000000
goboobooboobooboobooooboooooobobo Gdooooonon
GdOODOO0OOO0OODObOOos8SMeVODOUODOOyOODOODODO 1400000
ggboooado

O

Lo+ (0.511MEV)
\ o

r r:f}ji IMeV)

prcannpl sigg e

R 2SN TR

Py

: E E, ~8MeV

014 0000000000D000DO0
U

gobooooboOopOoobO00obbOobObOOooboOOooDooobboOoD
goooobg3op stoboobooboboobuoobooboboobon
gogobbobbodoooooobbbbooooobobooboooooobobn
ggbbbuoooobbooodoobbo

1.4 KASKAOOOOOOOOOOOO

gboolbggbuobogboobboobuoobooboobboobn
gogobobbobbiooooooobobobobboooooooboboobobboouga
GdO0OboOoooooobooooooboobooogoeoemdbogoonooO
00 GdO0O0O0O0O00O0DO0O000oOoboobOooDoboobDooOoDGdO
goggobbbbbouooogobbbobbouooooobobobooood



ggbbobugobbbooogbbbuoooobbouooobobbooad

ggbobbbbuooooobobbbboduoooobbbbbouoooobn
gi3sbbuguobbugubbobuodgbooboognon 8odge.s0nod
O0O0O0oOoPPOD bis-MSBOOODOOOOODOOOOODOOOOOOODO
gooobgobilsooboobooboobobooooboboo4b0nDbD4n
gboogoboobboobooobooboobbuoobbooboob 20
gd3tdooogoobbobobbodgooooobboboouoooooon
gogobbbbobotooooooobbbbbouooooobbobobobooago
gbooobgoobobbobosnchd0boboooboooboooboon

gogobbbbbboduooooobbbobbbbbbooooooobn
gogobobbobbouooooobbbbooooooobboobobboooog
gboboobugoboboboboboobooboon

gilsbooggbobuogoobbobuoonobbooogno

U ls5 0b0boogoboboboooobon
0

10



20 OO0ty

2.1 OO0

gogobobobbooooooobbobbouoooobobobobboagd
gboboggboobbuoobboodgbbuooboobboooboogbba
gbogboobbobogboobbobbobnuobogbogbogobod
gogobbbnbO0oooooobobbbbbbouoooobbbbbbdado
gogobbobobodggoobobbbbooooooboboooooobobo
gggobbbbbbobouodooooooobobobbbbboooooboadao
gogoobbobbobbbtodoooooooobbbobbodooooouoo
gbobobooooboboobmrnboobobobooboboobonbg
gogobbobobodgooobobbbbdooooobobboooodgdmro
gggobbbbbbtbodoodgtpbbbbbbbodoooboooooon
Oo0o0oO0oO00OO0O0O0O0O0O0OD0OO0O0000 2000000000000 3/40
ggobbbbuoooobobbbbboooooobbobboooooobbo
ggboobobooooobobooogn

22 O0O0OO0OOOOOOO

OObOo00O0ooO0o0obOoobO0o0obUOobOobbOoGdobooboobooD
goggobobbbbouoooobbbobboooooobbobbuoooooon
O0b00o0o0oboobOooO0obooOboobDbO0oobOoGdboboboobDOooDO
gbobogobboobbuoobobobboobuooobboobboooboo
gO00db0obOobOOoboboo GdOoobooboooobOoboobboboobooo
gogobbbobbouooooobbbbbouoooooobbobbodugo
gobogbobbooobboobbooobbooobbuoobobobooonbon
gogobbobobbouooooobbbbbouoooooboboboboougo
gogogboobbbbddooooooooooobbboobbbboooooo
gbbodbo2emtgbubogobouogobogbbogboonobogs
g200000000bo0boobobobobolHzbOOon

gbogbboobodgubboobuodoobbooboobuooboobb
gogoobobbbbodgooooobobbobbbuoooooob 2000

11



gboboboobobobooooboob@moobo 2emogbooooon
gbobdd2mch0000000D00O0OO0OO0ODOOOODOOODOODLDOOO0
ggoobobbbbbbbouodoooooobobobbobobbbbobbbdoooo
gbobogdbbogboboobbuobboobbooobbuoonobooog 21
ggod

0

U21n0000000000000D000
O

2oem U0 00O00O0O0O0OOO0OOLODOOOOOLOO0O0OOO0bLbOOO0bLbO0n
gogooon

gbobb230000b0bodbbogbbogboboobbboobboobn
goddoboooooobooooooobbbbbbobboouodguoao
gogobobobbuodgoogobboobboboooooobooboooooog
gguooooooobbbobbobbuooooooobbboboobbboodoooo
000 ADCOOOO0OODOOO0OO0O0OODOOODOOOOODODOOOOODO
goggobbbbbuodooooooobobboobbbbbbbbodoooaa
goobobbobbbouodgoooobbbobouoooooobobobbougo
ggobbbbbodugooobobbbbuoooobobbbbbouooooobb
goobboobobuodoooooobbobbbogooooobbobboougo
gggobbbobobbbbbobodoooooobobbbbbuooooooobn
gogobbobbboogoogobbobbodooooobobbboooooonbn

12



25cm

U 2200000000000

6em

: 6om !

25cm

O

R b

OO000oO0ooboooooADCODODOUODODODOODOOADCODODOODOO
gogobobobbouodoooooobbobobbobbbboouoooooon
gboggbgobobbobobooboobooboobo

13



| Fagnros— = nss |

(B] B & 3R [

—mEs [ mes ] #us }—l

B
BERREEE
0
U 2300000000000
0
23 UO0OOO

23.1 0O0OO0OOOOOoOoooO

O00000000O000D0000D GoretexOOOOODOOODDOOOODO
ooboobooobooooobooobbooboobooobOoooobodDGoretex
O PITFEODOOD0ODOO0ODOOODOOO0ODLOO0ODOODODOObDOODODbDOOD
gbobobobooopPTFEOOOODODOODOODODOODOODLODOO
gogoobobobboooooobboobobbooooooobbobboooooon
O0000000D0DGoretexOODOODOODODODOOOOOOODOODODOO
000000000000 DOD0O0Db0O00DO00DGoretexOODOOODOOODOO
gogbbbbbouoooooobobobobobbuooooobbobouoooon
goooboobobboboooboobooboobobobobooo 1900vOd
ggboobuoogooo

O0D00000000Db0 24000000 GoretexOODOOODODOOODOODO
gbbodbbogbooob200bboobboooboboobbuoobbo
O0D000000000 GoretexOODOOODOO 450chDOO0O0D0O0O0ODOOODOO
oboOdsoochOOOODOODbODODOODOOOOOODODODODObOOO
GoretexUOOUODOOODOOODOOODDOOODOOODOOODOODDODOODO
O0000oopD0oboOobobod GoretexUOOOOOooooQg

14

ADC



[_Run2:Cosmic_Ray Counter Down [ ___tad |
Entries 501

n 477.
237.

200 400 600 800 1000 1200 1400 1600 1800 2000
ch

Run14:Cosmic Ray Counter Down

e R R
O a [
024 0000000000000goretex000000000000O0OOO
00000000 goretex0O0OO0O0O000O0O000O0O0O0O0O0OOO
0

232 0O0OOOO0OOOO

gbogboobbobobooboobbobboobooboobooooon
ggobobbbbbbotbodooobuoooooobbbbbbboboooooobn
ggobbobboogooobbbbbuoooooboboooooobobo
gboobgoboobon

gogobboobougooobobbobboooooobbobbbouooood
gobooooboboboboboboboboboboboboboooobog
000000o0ooOoooooo®co,0noonoono®Ced 200 v0O 1.17MeVO
1.33MeVOODOODOODOO 288KBqU 20030 30 110000000000 00O0O
gbbogoboobbooboobuoobboobboobboobooobbyd
gboboboboboboboobooboooooobooooooooooong
goobbobbooooooobboobobboboooooooboboobobbooood
gbogoboobobbooboobooboobobboboobodn demO
gbboboboodlemtbgobooooooooogboobboobooooo
gbobobobobobobobogo2sb0bobobobuobobooood
0oo00oOooo®ce000000000N0O00O000O 2emO0O00O00O0O0OO
yODOOOOOOoooOoooobooobooboobobooboobooboboo

15



sl 0

025 000000000000 %Ce00
0

000000000000000000000000000000000000
2600000000000000000000000000000000000
ADCOO000000O0O00000260000000000000000000
000000 1300ch00000000 270900000000 (1)(0,00000
0000 emO000000 (2)(0-3)00 (5)(0-12)00000000000000
O0emO0000000 (6)(3,3)00 (9)(12,12)0000000000000000
02800000270 (1)(0,0000 (5)(0,—12)000000000000000
00 2.8(6)(0,0000 (9)(12,12)0000000000000000000000
00090000000000ADCOOO00O00OD (3)(0,-6)00 1315¢h0 0
000000000000 (2)(0-3)00 120k 00000000000 9000
0000 (1315 —1290)/1315 ~ 0.020 0000000000000000000
00000000000000000000000 thresoldlevel 1000000
00000000000000000000 25emx 25em0000000000
00000000000000 25emx 25em000000

16



Run56:Cosmic Ray Counter Down

2500(—
2000
1500
F E— BOlE
1000
F — D BEOH{E
s00]- E—J O+ {E
ol P I I | B P P
(] 500 1000 1500 2000

ch

02600000000
U

3

U2n0b0ooboooobooon
U

17



[ b bEE T EOACDED ||

—
N
=
37 ]
{s i
e e e I® e e
—~
13 —
1s i
[ e e -~ B e e P
N i
—~
1 i
1s i
e e R — = L e e T -4
1£ 4
B (- B
= [ ]
Io_o ._mm_ |
|m\v S =)
e e ~ 2 B e T
1~ S i
_| S _|
._E
i = i
1s ) i
ic L) 4
_r{________________________) 10 ____1._________________________
o [=} o o [=} o = f o [=} o o o o [=}
=] =] =] o =] =] 5 =] <] =] o o o o
N o =) © <t N Al N =] 0 © <t N
-~ -~ .m: ThE - -~

(8)(9,9) 9) (12, 12)

(7) (6, 6)

18

(6 @, 3)

(1) (0,0)

U 28 000dbboooobobuoggbbobbuoogbbooobobbon
0000000000000O0O000000oo@)oooD 270000000



030 Ut
L] [

3.1 UoOuogouobogobooon

ggobbbbbodooooobbbbbbodoooooobbbbboadao
goobobbobbouodgoooobbbbouooooobobobbbugo
ggobbbbodgoooobbbbboooooobbbboooooobbo
gbobogbbuogbboobbogbboboboobbosiggooobood
oo 32000

O

g3l 0bodgdgooboggoboooogooboon
U

19



[ Fanyes— =n=s

—EES

B

BEAREEE

7o b8 A Tt

mEsEaEn | 7 FRER[

rREFHEE

1BiEER

H_
&
s
Of [ =========
of
jud

T

1/20

e

B E B R

o

ADC

O

U 32 000000b0oo0040n

O

ADC

googoboboboboboodobieooboboboboboboboobg
00000000 1/20000000000000000000O0O0OO0OO00OO0O
0000000000O00000 1/20000000000000 1/2000000
goobobbobbouodogoogobbobbooooooobbobbooago
gboboogboodgbbobboobboobboobboobobboodobbda
goobobbobbobouodogogobbbobbooooooobobobboodagd
0000000000000000000000 33000 1/2000000000
gbobogobgobooobbogbobooobbuoobobooobboanon

g330b0pobobbooboobuoobbooboobobbsmvVaobg
gooobi1somvVOOooooooooobooooooboooobooboboon
0000000 10000005mVO0000000OMVOO0O0O0OO01/20

20




ggbboboooobbbooaooboo

gogobboobobbogoooobobbbuoooouobobbouooood
OoOo0opooOOoOooooOooboooOoobooADCOOODOOODOODOOOO
ggboboobuoooobobooogn

0

500my S0ns

® 1/20 77%—

2 —REREF

0 @ 1/20 7T7x—4%—(ERAE a

033 0000000000 1/20000000000000
0

3.2 OOOOOO0OOOO

OooO0obOoOoooooOooooboOoOooDboOoooDboOoOoooboADCO
gobboobbbuoogoogobboobboooooobboobobooooood

21



gbooboboboboobbooboobobobbobobobobbobboo
00000000000000000%Ce0 ¥CsOOODOOOO0O0O0O0OOOO0
gogobbbbbbuooooobbbbbuooooooobbobobbouoo
000000000000 0000000%®Ce.00000000000000O
00000000000000YCsO 0.662MeV 0 vO 0000 0O37KBqO 2003
03011 000000000000000000000 340000%Co0 B~
gboggbgoloodD 1.17MeVO 1.33MeVUO y0O0O0OOOD0OO0ODOODO20
U~yO0000000O00D0OODO25MeVOODOOODOODOOOOODODOODOOO
BCsO0 3~ 000000000000 800 0.662MeVO 000000000
gogoec2MeVOOODODOODOOODODODODOOODOODOO

O
[ Run23:SUM of P rompt | psum
E Entries 418239
200001 Mean 142.6
18000 RMS 113.5
16000 x2 | ndf 414/ 35
14000 Constant 2892 -12.9
12000} Mean 261.4- 0.2
10000 Sigma 27.99-0.29

8000f
GOOOf
4000f
2000f

L T s R RTRTN BT | | L -
00 50 100 150 200 250 300 350 400

ch

[ Run40:SUM of P rompt psum

14000 Entries 709651
Mean 64.17

12000 RMS 58.26

X% | ndf 5305/ 40
Constant 8500 -21.8
Mean 65.14 _ 0.06
Sigma 14.97 - 0.06

10000

8000

6000

4000

2000

wwwwww P IR e L Lt
0 50 100 150 200 250 300 350 400

U oh ]

034 0000000000000000%Ce0000000000 B'CsO0O
gaob
U

000000000000000000000%Coe0 2.5MeVOOOOO 261.4ch0
00 Y¥Cs00.662MeVO 0000 65ch0000000000000000OOO0
obo0oooooboOoo AbCcOooooboobuooobobobooobo 200

22



gbodbbuoogbbboooobooobossgbbobuooobobbod
gobboobuogoboboboogoboo

O
c2/ ndf  3.605e-300
po -5.548- 22.72
f’3oo p1 106.8- 17.27

250

200

150

100

50

0 ’ " Mev =

g 35 0b0ooaggboooad
0

3.3 Ubuobouobouobogno

3.3.1 UUubudoduooooouoouboboobobouoboooogd

00000000000000000000000000000000000
00000000000000000000000000 0000000000
000000000000000000000000000000000000
oooo
00000000000000000000000000000000000
0000000000000000000SO0000000000000000
000000000000000000
dE
00 8§=-— (3.1)

000000000000000000000000000000S0000
00000000000000 Bethe-BlochODOOOOODOOO0OODOOOO
0oo

23



dE 442 2 2 2 2
——WGZNZ&nW?)—m<L—U>—U} (3.2)

dx mov?2

[v:10000000

ze: 10000000
N:00OODOO0OO0OO0OO0O0oooooo
Z:000OO0DOoooo

me: 0000000

e:gggggnon

| [:00000000000000000000000

00000000000000000000dE/dx000000O0O00OOOO
ONZOOOOOOOoOOoO NZOOUOOoOUoOoUoooooooouooooooo
mZ A

No:OOGOOoooog
A:000000COO
m: 00000000
p:000O0O0OO00OObOOO

goobbooboogoobbobbodoooobbobbbooooooon
gboogbgobooboobon

gobbbooogbbobuooobbbooobbbuoonobbog 1380
0000000800 85000000000000000000.880g/cm? 0
0.828¢/ecm>0 00000000 0.835¢g/cn*000000000O0OODOOO 1,2,4-
gbobobobobobbboboboboobobboboobobo&son
goggbobbobbbotooooooobbbobobbotbdoobuoooooon
gboobooobgd

gogobbobbooooobobbobbboooooobbobboooood
gobobb4100000000bobo0ooga

00000000000000-dE/dx=1.8MeVglem?) 000000000
000000000000000000 0.835¢/ecm*0000000000000
0 1.8x 0.835=1.503MeV/em 00 0000000000000

3.3.2 UUOOOOOOOOUOOboOn

gogobbbobbodooooobbobobbouoooobbbbbodado
oooobOoboobobooboooOobDobU0obuo ADoboooobooboboo

24



10

H liquid

[ 201

He gas

= dE dx (MeV g‘ltmz,'l
La

1 L L Lot
0.1 1.0 10 100 1000 10000
frr= o Me
] | | | |
01 1.0 10 1040 1004
Muon momentum (GeVic)
APITTY IR R R R
.1 1.0 10 100 1000
Pion momentum (GeV/s)
| T T BT RS R
0.1 1.0 10 100 1000 10000
Proton momentum (GeV/ic 0

0

036 00000obbouoooboouoooon
0

gobo0oobooboooobooooboboebobO2r000O0O0OO0OODO
gooooéeb0Ob0OODOOseODOOOOODOODOOOODODODbDOODO
Ooooo0ooobOoOooooobboooJoooDooeDDOODOOO jpyODOO

w/2
J = /jng = 27T/ Jo—o cos® fsin Od (3.4)
0

gboboboooooboooboodn 25em x25em 0000000000 60cm
gbgbooobobodbob20em d0o0oboobooobooooboobn
gboboggbuogbbuogbboobuooobooobbuooobooobobda

g380b00000n
goboooggbbboooos3ssuuuoooo

25



FEBEHADI A —
6
Jobhaq TR \
O O

037 0000000A0OD00OO0OODODODODODeOODOODODOODOO
epoon

0
O
fl
Entries 42789
Mean 179
1000— RMS 1.115
800—
600—
400—
200—
Mol o onll PPN (NN [ | RO (NN ()
Ci70 172 174 176 178 180 182 184

U H

U3s odbgboboboooogbobobobuobnuonoboobobobobg
U

26



3.3.3 U0OOO0OO0OOoooon

gogobbobbooooooobbobbuodoooobboobobougg
goggoboooobbbbobobbbuoooooooobbbbobbboooo
gbboogobdodbogbboobdoobbuoobboobuooboobboon
gogbbbuooogbbbuoooobbbooogbon

gbobooooobobooobobgoboosoMevOOD 106MeVOODOODOO
ggobbbbodoooobbbbboooooobbobboooooobbo
gooooboobobooboogdvyoMeV OO 90MeVO 90MeV OO 115MeVO O
gbooboobobbobboboasiooboooo

T0MeVUODO 90MeVUODOODODOODDODOODOOOODODO 1800ch OO 2800chd O
ooooooooo1eocochd O 2800ch0 00000000 OOOODLDDOOODOO
gogbobbobbbouoooooboboobbooooobbobboooooog
O0oboooboooooon 1s00chD O 3000ch0 00000000 ODODO OchO
g 1ooochD 0000000 ODOOOO0OOOODO Och O s00chOOOODODOO
000 1o00chO0 3000ch0ODO0OD00O0OO0O0O0OO0ODOODODODOOOOOO
gogbobbobbboudgoooobbobboooogbbobuoooooon
gboogbgobuoobgoobgoboob voMeVOUO 90MeVODUOODOO
oo

OobooMevVOO 115MeVOOOOOODOOODOOODOOOODOOODOOOO
gogobobbobbouodgoooobbobboouoooobbobbougd
goboo

27



=
hova—L tau

| O FE# 5 I Entries 1004

Mean 2202

RMS 852

0 500 1000 1500 2000 2500 3000 3500 4000
ch
[@ FaEEHAH 52T | _tad
Entries 1004
F Mean 1972
22— RMS 875.2
20
18
16
14
12
10F
8F
6
aF
2
0 500 1000 1500 2000 2500 3000 3500 4000
ch
[® JOrsAJREBLbES | Pt
Entries 1004
_ Mean 78.7
E RMS 17.91
70
60—
50—
40—
30
20—
10f—
0 20 ) 60 120 140
D MeV |:|

039 000b00b0oboobooboboobobboboobobobo
googoooboooboobboobuoobbooboobboobuoobobooon
000000 (0000000000000 000ODOOO0O0OD00oOOoooOD)

O

28



[__70MeV_< E < 90MeV | _trigud
Entries 780
4000 - — Mean x 2351
ch = o © o oo © Mean y 2120
= - % of o © RMS x 63838
:500: (00 b P RMS y  726.1
N C
000
'
725001~ .
voE
22000 .
hso0—
;F .
fhooo - |
500 -
Bt Lt e e L
% 500 1000 1500 2000 2500 3000 3500 4000
FEHRDV V2 —LEE ch
[ 90MeV < E < 115MeV | [ _trigud )
Entries 125
4000 — " Mean x 1813
ch iy co Mean y 1548
3500 RMS x 1159
= E . RMS y 1158
3000 —
L
72500 —
Vb
22000 —
a2k
hsoo = .
=
ﬂooo}'
500 |—
P S I B R IR I PN BT I
500 1000 1500 2000 2500 3000 3500 4000
O FEEH DS — L oh

0310 00000000000000000000000000000000
00000 70MeVOO 90MeVOODOOO0O0O000 90MeV OO 105MeV OO
0000 (00000000000000000000000000000000
oo)

0

29



40 OO

4.1 0OOO0O0OOOOOOO

gbogboobobobobooboobbobboobuoobogboooobo
ggobbbbbouooooobbbbbooooobobbbbooooad
gogobobbobuooooogobboobbooooooobboobbooooood
gogbbbooogbbboooobbbooodgbon
ggboboboogoobobodan

Oco 927.99
- —0.107 11
Kco 261.4 ( )
14.
o0s _ MAIT_ 4 oqg
Kos 65.14

gobbbuooobobbboooobbbbooodobo

0.107 x 2.5(MeV) = 0.268(MeV) = /o3 + 0%, (4.2)
0.230 x 0.662(MeV) = 0.152(MeV) = /0% + 0%

000000000000000%C.0®¥Cs0000000000 oy000
00000000000 (4.3)0

Ohe — O, = 0.04872 (4.3)

DDDDDDDDDDDDDDDD%:Z—:/ E/E'000

UECO UECS
= 1/2.5/0.6620 4.4

DDDD(&@DMéﬂ]Da&m:02M%hVDa&k:Ol%AkVDmV:OU%MAhV)
0ooo
000000000 0000000EOcOOOOO

— = 0.20/\/E/0.662 (4.5)

gogobobooggooobogo

30



4.2 JO0O0O0OOOOOOOOOOOO0O0O

4.2.1 0O0O0OO0OOOOO

gboboogboboo3gbooobboogbssgbbuogobbonobood
gbooooobogs8oMeVODODODOODLOODOODODDOODODOODOO 120emdOgn
gogbbobuoooobbbuoooobbbduooobobogao

gogoobobobobodoooooooboobobbodooooooboboboboboooo
gogbbbuoooobbbuoooobbbduoooobobogao

gogobbobbodogoooobobbiooooooboobbbuoooog
gogobobbobbobouoooogbbobbbbuooooooobbobbougg
gogoooboobbbbogoooooobboboobbbooodgoubooog
gbbodboooobboobbooobuoobboooobo1l1bda20b0300
4A00s001000000000b0DbUObLDbLOOo0bbOoOobLbOoOo0 20000
ggooobod

ggbboboooobbboooobbbuooono 41004200400

0000000000000000000 x*000000000000000
00000000000000000000000000 «0000 2?0000
gbobobooobobonoooboboomsMeVOO 7TMeVDOODOUO 0.2MeV
gogbbobuoooobboooooobooo

gogbobooogboo

2 (Data; — an;)?

Xz:z 2

5 Obate; T Q07
OO00000O0Date; 0O O0OOD0OO0OOO0OOOn, D0O00O0OOO0O0O3
000000 0000000000000
0000000000 ¥?0000000000 430000
oododdoooooouoooonoooooouooooogsbouod
goooooodgo

(4.6)

31



1% 4%
- Entries 18017 500~ Entries 18109
1600~ Mean I
E Mean 776
E - RMS 3
o0 fe oo 400 #I ndf  96.64/ 9
E 7 oot y
1200~ i sl M E Constant 4639 @
E Constant 1592 146 s
1000F- 300 Mean 77 @
E Mean Bt (O] L Sigma_ 3.102_0.016|
s00f- Sigma 08999 0.0049

MeV
9 5%
Entries 17877 450 Entries 18002
900 Mean 77 o ; Mean 77
o RMIIS " 1.617 E RMS 3.84:
] ():z n s::.;s;us 350 21 ndf 1374/ 12
onstant 8- 8.
E 72.5- 3.4
. o 5 00 300f Constant ~ 372.5- 3
Sigma 1,602 0008 250F- Mean 77.7+ 0.03]
500 E Sigma 3831 0.020|
200
400 E
150
300 E
o 100f
100 50
[ T R 86558065 70 75 80 85 90 85 100
MeV MeV
3% 10%
Entries. 17924 200 Entries 17792|
£ Mean 77.6§ a0 Mean 77.6:
eooE RMS 2.329 RS 772

soof- 21 ndf 1034/ 7] iee 21 ndf 2203/ 23
E Constant 614.7- 5.6 140 Constant  181.8- T
400 Mean 77.66- 0.02 120| Mean 77.65- 0.06|
r Sigma 2.316-_0.012 o Sigma  7.731 0.043]

300
200

100

|:| §5=55=="86"""65~""70 75 80 85 90 985 100 %655 60 65 70 75 80 85 980 95 100
MeV

U 41 g0380bbugguobobbougogbobbuoooboboooad
ggbbbuoobbboooobbbuoobobboooon
U

[ERICEYAELEFEROIRLF— | psum

E Entries 1004
35—

r Mean 79.12
30— RMS 3915
25 ; x2 ndf 2997/ 27

E Constant 3243 -1.73
20—

E Mean 77.59 -0.08
15— Sigma 1.429- 0.063]
10—

5

5

ot N Uit

70 75 80

|:| MeV |:|

0 4.2: 03900 65MeVUODO 9MeVOUOODODOODOODODOOODODOODOOO
g

0

32



X 80
70
60
50
40
30
20

10

S S N S S
2 4 6 8 1

0
0 P

043: 000000000000 x200
U

4.2.2 O0000O0O0OO00OOO

gbobodgopoboobodboobbuodoboobbobobooboobo
gbobobobobuooooobobobobobobboooobobb 440
O00O00O000O0o0ooOOobobOOoboOOobObO ADCOODOO0O0DOODOoODO
gbogbuogbbobbobbobbobobobbobboboobobobbo
gogobboobbodoooooobobbboooooobobobbooooooobo
ooboo045000000000000 1800ch OO 2800ch 1600ch O O 2800ch
gogooobbobboboboodgooooobbooobbbooodoooooooo
gogobobbbbbuooooobobbbobbbouooooobbobboboogo
gogobobbobboooooobobobobbbodooooobbobobbougo
goggobbbobbouooooobbbbboooooobbobobodooooon
goggoobboboobbboobobbboddooooooobbobooouog
ggooobod

bbb e=118200000000000 p=753100000000
goon

7 %100 = 1.57(0) O (4.7)
)

goono
gleboobd

33



[ 70MeV <E < 90MeV | rigud
Entries 780

4000 - Mean x 2351
ch £- - 2o o Mean y 2120
= - s RMS x 6388
:500: e RMS y 7261
+ C o
000
®oE
72500 .
22000(- .
3 £
hs00—
FE.
oo
5001 -
o I RN T Y LS I B I S P
500 1000 1500 2000 2500 3000 3500 4000
FEHRDI V2 —LEE ch

044 0000000000000 00DOOOODOOOOODOODO

0
[ Run19:SUM of Prompt ( 788.925 sec) | psum

Entries 469
Mean 76.44

30 RMS 3.548
X2 / ndf 11.6/13

25 Constant 29.79 +2.15
Mean 75.31+£0.10
Sigma 1,189 +0.091

20

15

10

4]

n ﬂ‘ﬂlﬂ‘ﬂﬂ Al ‘ﬂ I R

L
80 85 90 95 100

|:| MeV D

o2
S
4]
a
o
<]
o
a
~
o
~
a

045 044000000000000000O0000O0O00DOOODOODDOODO
gboboboboboboooooboboOsooch b 2800ch O Ooonoon
00 1600ch OO 2800ch 000 0OO0O0O0OOOOODOODOOODOO

0

34



s OO

0000000000200000 %CO®¥Ccs00000000000000
000000000000000000000000000000000000
000000000000000000000000000000000000
0000000000000 £=020/,/E/0.6620000000000000

00000000000000000000000000000000000
0000000

00000000000000000000000000000000000
000000000000000000000000000000000000
4300000000000150000000000000000000000
(42)000 1.6000000

00000000000000000000000000000000000
000000000000000035000%C0%cs0000000000
0000000ADCOOOOOD0O00000000000000000000O0
000000000000000000000000000003.8003.900
000000000000000000000000000000000000
000000000000000000000000000000

00000000000000000000000000000000000
0000000000000000000000000000

000Gd0D000000000000000000000000000000
000000000000000000000000000

35



HRERERE

1] 0000000000000 0000OO0ODO 230 30
OKASKAOOOOODOO A ;00000

2 000000O0OOoO0ooooooQ
(Bl 0000000000000 0OOODOOOOoDOoOoOO

4 OO0 F.O0000O00OO0OODOOOODOOOO
gobboboogobbbuooooboboood

p) J0O00OO0OOODOOODODODOODOOOODODOO

6) 00000000000 O0oooooooo

[7] C.Bembporad et al., hep-ex/0107277

[8] F.Suekane for KASKA group, Proceedings for NOONO04, hep-ex/0407016

[9] PHYSICAL REVIEW D,1-I,D 66, 010001-196

36



HRERE

gogobbbbbbuoooooobbbbbouooooobbobobbooago
gogobbobbuoogogobobbbodoooobbooboooooobobo
gbobbuogdbuooboobbobbbobbooboobuoobooboo
O00O0O0b00ObO0O0b00O0bO0bObO00obObOobO0o0DO0o0obDOoO0DDD KASKA
gogobbbbbbuodooooobobbobbbbooooobobbobobbougo
ggobbobobodgooobobobbbdooooooboboooooobobo
gogdgggobbbbbboooubbobototdugdooooooooooood
ggooood

37



